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Question Number : 1 Question Id : 3666942931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the number of elements in sets A and B be five and two respectively.
Then the number of subsets of A x B each having at least 3 and at most 6

elements is :
Options :
3666949161, 02
3666949162, |12
3666949163, 02

3666949164, 52

Online
Mandatory
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20
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Yes

0

1
366694160
Yes

null



Question Number : 1 Question Id : 3666942931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A Gl A 94T B # 31994l @1 ST U UG 9T & g1 Ot AxB &
SuEd!, {5 &0 8 &1 3 au e § 31 6 siaud 81, ot e e

Options :

3666949161.

3666949162.

3666949163.

3666949164, 152

Question Number : 2 Question Id : 3666942932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If for z=a+iff, |z+2|=z+4(1+i), then e+ and @f are the roots of the

equation

Options :

2 '
3666949165, * tHx—4=0

3666949166, ¥ tix+12=0

2 4 £ g o_
3666949167, ¥ T2x-3=0



3666949168, * Tx¥~12=0

Question Number : 2 Question Id : 3666942932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
S z=a+if FRC|242|=z+401+i), @ a+p T op 6 TG S 70 §2

Options :

2 F
3666949165, ¥ t3x—4=0

3666949166, * t1x+12=0

L ; g o_
3666949167, ¥ T2x-3=0

3666949168, * Tx¥~12=0

Question Number : 3 Question Id : 3666942933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let @, 8,7 be the three roots of the equation x” +bx+c¢=0.If fyr=1=—a,
then b* +2¢® - 3a” - 68" — 85" is equal to

Options:

36669491609.
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3666949170.

3666949171.

3666949172, 2

Question Number : 3 Question Id : 3666942933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

H o, 8, 7 TSI +° +bx +¢=0 a‘TEﬁ:fIFf‘gIEFﬁ ﬂ;lez--rf,?ﬂ
b +2¢" -3a” -68° - 8y° TR B

Options :
169
3666949169. °
155
3666949170, 8
3666949171, 17
21
3666949172,

Question Number : 4 Question Id : 3666942934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

2 1 0
let A=|1 2 -1 |.If |r1dj|[ adj(ad] 2A)) ]: (16)", then n is equal to
0 -1 2
Options :
3666949173, 1V

3666949174, B

3666949175, 12

3666949176.

Question Number : 4 Question Id : 3666942934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :

3666949173, 1V

3666949174, B

3666949175, 12

3666949176.



Question Number : 5 Question Id : 3666942935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J3 i

9 o 1. q - R {
fep | 2 B | 4 and Q= PAPT . Tf PTQ* p-|? ° |

1 ﬁ 01 ¢ d

2 2

then 2g +b—3c-4d equal to
Options :

3666949177, 2004

2005
3666949178.

3666949179, 2006

3666949180, 2007

Question Number : 5 Question Id : 3666942935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E: 11
‘A'lﬂ 1.4

ﬁtﬂQ=PﬁPTg| afe P'r@zusz[f: E}Eﬂ

1¢|§-ﬂ b |

2a+b—3c—4d WA &

Options:



3666949177, 2004

2005

3666949178,

3666949179, 2006

3666949180, 2007

Question Number : 6 Question Id : 3666942936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of arrangements of the letters of the word “INDEPENDENCE”

in which all the vowels always occur together is

Options :

3666949181, 14800

3666949182, 23600

3666949183, 16300

3666949184, 18000

Question Number : 6 Question Id : 3666942936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s “INDEPENDENCE” & 31&Rf @1 forgs & dlia!, formd wft «R ghen we
Y gl B aEn g
Options :

3666949181, 14800

3666949182, 233600

3666949183, 16800

3666949184, 18000

Question Number : 7 Question Id : 3666942937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of ways, in which 5 girls and 7 boys ean be seated at a round
table so that no two girls sit together, 1s

Options :
3666949185, 126(51)°
3666949186, 360"

3666949187, ' (120)7

3666949188, 12U

Question Number : 7 Question Id : 3666942937 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 Tefdhdl TUT 7 TSd! &1 U Tiidl A9 W 39 TR 961, fdb P13+ & dsfaal
U 91U A 38, & adld] &) TSl

Options :

3666949185, 126(5!)°

3666949186, ' 360)"

3666949187, ((120)°

3666949188, 12U

Question Number : 8 Question Id : 3666942938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the coefficients of three consecutive terms in the expansion of (1+x)" are in
the ratio 1:5:20, then the coefficient of the fourth term 1s

Options:

3666949189, 1827

3666949190, 091

3666949191, 2481



3666949192, =136

Question Number : 8 Question Id : 3666942938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e (14 x)" & UBR T fF AT UGl & OS] ST 39 1:5:20 8, df 94 UG
I P
Options :

3666949189, 1827

3666949190, 091

3666949191, 2481

3666949192, =136

Question Number : 9 Question Id : 3666942939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1+2+...+ K

L'Et SH == j
L%

and ) Si = %{an +Cn+ D), where A,B,C,DeH
F=1
and A has least value. Then
Options :

A+ B+C+ D is divisible by 5
3666949193.



3666949194, A+ B is divisible by D

3666949195, A+ B=5(D-C)

A+C+ D is not divisible by B
3666949196.

Question Number : 9 Question Id : 3666942939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHAET SH=1+——"—2-;;"+K L ZS?:%{BHE+CM+D) %, Gﬁ% AB.C.DeN %
41 j=1 B

AT A HTHAE FATH 81
Options:
A+B+C+D, 5 A favr=a @

3666949193.

3666949194, A+B, D A faursu @

A+B=5 (D-C)
3666949195,

A+C+D, B ¥ faursg
3666949196. ﬁ %

Question Number : 10 Question Id : 3666942940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fra . e k| 3
lﬂn[{{l L?higx]f[ in () ww isequalto__
JJ

x—0 cos’(4x) ) log,(2x +1))

Options :

3666949197, *

3666949198.

3666949199, 18

3666949200. =

Question Number : 10 Question Id : 3666942940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

E W g

; {1 cos>(3x) | || sin®(4x)
lim| | -
~0| | cos™(dx) ,l\{l:}gﬁfzxﬁl]})!

Options :

3666949197, ¥

15

3666949198.

3666949199, 18



3666949200, 21

Question Number : 11 Question Id : 3666942941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let I(x) :IL”_,)(IL x>0.If lim I(x) =0, then I(1) is equal to
x(l+xe™) x4
Options :
e+2

—log_(e+1)
3666949201, €+l

e+2

: +log_ (e +1)
3666949202,

gt log (e +1)

3666949203, €1+

% +log (e+1)
3666949204, ¢*-

Question Number : 11 Question Id : 3666942941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Imﬂfhjzjzéfiiétdx,x}ﬂ%Iﬂﬁﬁknﬂxhﬂ)%jﬂlﬂlﬁﬂﬁ?%l

+xe ) T3

Options :



e+2

—log_(e+1)
3666949201, €+1

e+2

AT
3666949202. ev1 OELTD

gt log (e +1)

3666949203, ¢t

gk +log_(e+1)
+2

3666949204, ¢*-

Question Number : 12 Question Id : 3666942942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The area of the region 'l'[_r,;v} it Ly B=x" <7 } 18
Options:

3666949205, 15

3666949206, 20

3666949207.

3666949208. ~

Question Number : 12 Question Id : 3666942942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
F ﬁilllf:uff_jlr']'::nc2 <y<8-x", y<T } EI‘-TIEH’JIW%
Options :

3666949205, 18

3666949206, 2V

3666949207.

3666949208. ~

Question Number : 13 Question Id : 3666942943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let C(e, ) be the circumecenter of the triangle formed by the lines
4x + 3y =69,

4y—3x =17, and

x+Ty=61.

Then (@ — f)° +a + f# is equal to

Options :

3666949209, 19

3666949210, 16

3666949211, 17



18
3666949212.

Question Number : 13 Question Id : 3666942943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT et

4x + 3y = 69,

4y-3x =17, d¥l

x+Ty=61

a1 fFAffa Bys 1 9RF= e, p) 81 (@-p) +a+p TS B
Options :

3666949209, 19

3666949210, 16

3666949211, 7

18
3666949212.

Question Number : 14 Question Id : 3666942944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let R be the focus of the parabola ¥ =20x and the line y=mx+¢ intersect
the parabola at two points Pand @ . Let the point ((10,10) be the centroid

of the triangle PQR. If ¢—m =6, then (PQ)® is

Options :

3666949213.

3666949214. °

3666949215, “17

3666949216, 16

Question Number : 14 Question Id : 3666942944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A1 TRAGT y* = 20x B AN R 8 TUTE y = mx + ¢ Taad &1 & fagsi P aun

Q R ®ed! g1 THT AYS PQR &1 $5a, fdg G(10,10) 81 9% c-m=6 8 @
(PQ)’ IR 8|

Options :

3666949213.

3666949214.

3666949215, 17

3666949216, 16



Question Number : 15 Question Id : 3666942945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation of the plane containing the line
x+2y+32-4=0=2x+y—-2+5 and perpendicular to the plane

F:{rt —}}+A{f+}+:{-}+;r{f —2_;+3ﬁ:z} 15 ax+by+cz=4, then (a—b+¢) 1s equal
to

Options :

3666949217, 18

3666949218, 2V
29
3666949219,
24
3666949220.

Question Number : 15 Question Id : 3666942945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe gHad, o W1 x+2y+82-4=0=2x+y-2+5 RE & U & gHI@
F={f—j}+2{§+}+!§}+;:{f—2}+31ﬂ} %W%Eﬂ?ﬂ:ﬁﬁ?_{m ax+by+ez=4 %
Eﬁ(ﬂ—fi+C}W%

Options:

3666949217, 18



3666949218, 2V

22
3666949219.

2.
3666949220. ;

Question Number : 16 Question Id : 3666942946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shortest distance between the lines 1' == = 1: and

x-1 y-3 =z-4 .

3 4 2

Options :

63

3666949221.

3666949222, V6

3666949223, 2V6

3666949224,

Question Number : 16 Question Id : 3666942946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

' P e 2 i o I, -—
Yo E—4_yre gl 93 P4 marmaght
4 o 3 3 4 2

Options :

63

3666949221,
3666949222, V6

3666949223, 2V6

62

3666949224,

Question Number : 17 Question Id : 3666942947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If the points with position vectors m?+l{]j+13£=-, Ef+ll}+11fe, §f+ﬂj—8§
are collinear, then (19a -6/8)° is equal to i
Options:

3666949225, 16

| ]
o

3666949226.

3666949227, 96

3666949228, 19



Question Number : 17 Question Id : 3666942947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofe fRuf afes ai +10) +13%, 6i +11j +11Z, ghﬁj—ﬁé ¥ figuae @ dg a
(19a -68)? R g

Options:

3666949225, 16

| ]
o

3666949226.

3666949227, 96

3666949228, 19

Question Number : 18 Question Id : 3666942948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a bolt factory, machines A, B and C manufacture respectively 20%, 30%
and 50% of the total bolts. Of their output 3, 4 and 2 percent are respectively
defective bolts. A bolt is drawn at random from the product. If the bolt drawn
is found the defective, then the probability that it is manufactured by the
machine (' is

Options :

=1 | b2

3666949229.

3666949230.



[
e

=1 |3

3666949231.

8l

3666949232.

Question Number : 18 Question Id : 3666942948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U e §1F d PREF # 7L A, B 941 C $d I BT hH: 20%, 30%
T 50% Slee ST 8 | 37 AT & Sd1G BT HH: 3, 4 7T 2 W died e
gl gl & e H § U@ diee grewsdl [dren orar g1 afe R ma s
G U1 I §, o 39 A C gRT ST o & Wi &

Options :

=1 | b

3666949229.

(=)
T o5

3666949230.

=] a3

3666949231.

e

3666949232,



Question Number : 19 Question Id : 3666942949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lot f(x)=Sinateosx—o2 o [7] gy ;[ J f [T_T | is equal to
S5INX — COS X 12
Options :
-2
3666949233, °
.
3666040234, 2N

3666949235, V3

=N

3666949236.

Question Number : 19 Question Id : 3666942949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

qﬁfj &11"1\‘:+Lﬂh_‘[ J_ IE[D,R‘]—{%} %161”;’7}1,]}1[7_?:] %

BINX —COS8X

Options :

3666949233.



» |
w"|h:n

3
3666949234 3
9
3666949235, V2
9
9
3666949236.

Question Number : 20 Question Id : 3666942950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Negation of (p=>q)=(¢=>p)is

Options :

3666949237, PV (79

~plv
3666949238. (~p)va

gn(~p)
3666949239,

~q)Ap
3666949240.{ 2)At



Question Number : 20 Question Id : 3666942950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(p=q)=(g=p) CARELEE| %’

Options :

3666949237, PV (79

3666940238, | )V
3666949239. aA(~p)
3666049240, | )7

Mathematics Section B
Section Id : 366694161
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 366694161
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 3666942951 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let A={0,3.4.6,7,8 9,10} and R be the relation defined on A such that
R={(x,y)e AxA:x—yis odd positive integeror x—y=2}. The minimum
number of elements that must be added to the relation R, so that it is a
symmetric relation, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666942951 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT A={0,3,4,6,7.8,9.10} S dIT A TR TS S R, R={(x,y)e AxA:x—y
faw T TeTs QUi 8 1 x— y—2 &) g1 IRMIa §1 ddy R & gafia 8 &
fore 59H &0 | HH fFHa- sigud Wi o2 .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 22 Question Id : 3666942952 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let | ¢ | denote the greatest integer <t¢. If the constant term in the expansion

¢ 7
of | 3x° - L_W is @, then | & ] 15 equal to
LY

2x" )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666942952 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wlt]%ﬂﬁtﬂﬁfﬁ <t %Iuﬁf:%xz—_%}_' F TR H 3R TS 4 ¢

dl[a] SR E

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 23 Question Id : 3666942953 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3
. : n
If a_ is the greatest term in the sequence a, = o PR

nt +147

then « is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666942953 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3
o 3P 0, =———,n=1,23,.. B AP UG ¢ 8, q o« WK ¢

1 -
n +147

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666942954 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g Bl
Let [t ] denote the greatest integer <¢. Then = I (8 [cosec x] - 5[cot x]) dx

&G

1s equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666942954 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

hrlG

HHAT [t] HedA ‘:I\Uﬁfﬁ <t B 2 J [cosec x]-5[cot x]) dx @6 ®

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666942955 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the solution curve of the differential equation

(v—2log, x)dx +(xlog, x)dy =0, x >1 passes through the points [P, %J and
(e‘, a) then & is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666942955 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

£ i
gfe siama Tie (y—2log, x)dx + (xlog, ¥ )dy=0,x>1 B gd deh ﬁ_g;&ﬁ l e, —:]

ﬁm(e‘, .rz] ﬁgﬁﬁmg,fﬂ P W%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666942956 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The largest natural number n such that 3" divides 66! is

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666942956 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f¥Han Yqus », fora® fore 66!, 3" Afaursa g, g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666942957 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Consider a circle C :x"+y —4x—-2y=a—-5. Let its mirror image in the line
y=2x+1 be another circle C,:5x" +5y"-10fx—10gy+36=0. Let r be the
radius of C,. Then a + r is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 27 Question Id : 3666942957 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TP G C,:x* + 3 —4x -2y =g -5 &I IR FICI HHI @I y = 2x +1 H FHSI U0
vfafa 9a ¢, : 52 + 5y - 10fx~10gy+36 =0 1 W1 G C, B B r 81 e + 1
WRE

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666942958 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A, A, be the values of 4 for which the points [g 1, ),J and (-2,0,1) are at

N
equal distance from the plane 2x+3y—-6z+7=0.If 4, > 4., then the distance
-5 y-1 2+47.
— — i8
2 2

) g e
of the point (1,-4,, 4, 4,) from the line

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 28 Question Id : 3666942958 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 2 % W, R R g (3,1, 4) 1 (2,0, 1) W9 20+ 3y 62+7=0 F A

E&-ﬁma Ay 49 %lqﬁ A= Ay %a?ﬂﬁg {/11 )uz.-igml]] ﬁm I;ﬁ:‘y
g

1 z+7
L] = 2 :g
Response Type : Numeric

Fl

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666942959 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let @=6i+9)+12k, b=ai+11j-2k and ¢ be vectors such that Gx¢=axb.
Ifd-¢=-12,¢-(i - 27+ k) =5, then F-(f-rh- k) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 29 Question Id : 3666942959 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT AR G=6i+9j+12k, b=ai+11] -2k TUT ¢ SHUBPR G [P axi=daxb
%I afg G-¢=-12.¢-(1-2j+ k) =5 %,Eﬁ E-(i+]+k) W%

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666942960 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let the mean and variance of 8 numbers x,v,10,12,6,12, 4,8 be 9 and 9.25
respectively. If x > y, then 3x -2y i1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666942960 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



O 8 G&iafl x, v, 10, 12, 6, 12, 4, 8 & HIg G31 YIRON HHY: 9 741 9.25 81 Tfe

x>y %J dl H.r—-ﬂng'

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
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Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
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Sub-Section Id : 366694162
Question Shuffling Allowed : Yes
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Question Number : 31 Question Id : 3666942961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The engine of a train moving with speed 10 ms-! towards a platform sounds a
whistle at frequency 400 Hz. The frequency heard by a passenger inside the
train is: (neglect air speed. Speed of sound in air = 330 ms-1)

Options :

3666949251, 200 Hz

3666949252, 00 Hz

3666949253, 412 Hz

400 Hz
3666949254,

Question Number : 31 Question Id : 3666942961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U WeHH &1 3R 10 ms D 10 F TTHA U IGTS] B S99 400 Hz DI S |
U Hidl 31 G I0F Bl &1 IS P e 9 U I gR1 G T 31af 2
(@R D1 TTe 10 HHESH | I H @ T A1 = 330 ms 4):

Options:
3666949251, 200 Hz

3666949252, 00 Hz

3666949253, 112 Hz



400 Hz
3666949254,

Question Number : 32 Question Id : 3666942962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An air bubble of volume 1 em? rises from the bottom of a lake 40 m deep to
the surface at a temperature of 12°C. The atmospheric pressure is 1x107% Pa,
the density of water is 1000 kg/m* and g = 10 m/s2, There is no difference of
the temperature of water at the depth of 40 m and on the surface. The
volume of air bubble when it reaches the surface will be:

Options :

3666949255, 2 cm’

- |
3666949256, ° ¢™
A 3
3666949257, o™
5 em®

3666949258,

Question Number : 32 Question Id : 3666942962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

12°C AT9HT TR 40 m TTeX] Siid &1 dell I 1 cm? H1GAH &1 U a1 BT gaqal 3adl
TRIHAUSTIT &1d 1x 10° Pa, BT @RUT 10 m/s2 Td TT-1 &1 91 1000 kg /m3 & | T
] UdIg U9 40 m B TeXT8 W Ul & a9qE 8 $18 =R el ¢ | ofd a1 &1 gagal
e TR Ugddl ¢ ad ST TG gH:

Options:



3666949255, 2 cm’

" 3
3666949256, © ™
3666949257, ™
3666949258, 0 M

Question Number : 33 Question Id : 3666942963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement I: If heat is added to a system, its temperature must
increase.
Statement 1I: If positive work is done by a system in a thermodynamic

process, its volume must increase.

In the light of the above statements, choose the correct answer from the
options given below

Options :

36669492509, Both Statement | and Statement Il are true

3666949260. Both Statement | and Statement [T are false

Statement [ is true but Statement 11 is false
3666949261.

Statement [ is false but Statement Il is true
3666949262.



Question Number : 33 Question Id : 3666942963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R 1 py fad M E:
YA Od D B FHWI 4l FI 8, STHI dYHA Haxg Fe-1 9lieu]|

FYF 1: T HWI TTidP UshH H FHH™ gRT YATHS 1 g1 91dl g,
3P AT LY dgAT Iigu|

IR Y1 & e 1, i 28 T faseul 9 9 IR g

Options :

3666049250, T PUT 1 T HUT I &

3666949260, T PUT 18 PUT 1 TeHd €

YA | Qg Y 11 TTeld
3666949261. e J

PYA 1 TTedd & Ud HUT 1l
3666949262. ¢ L

Question Number : 34 Question Id : 3666942964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An aluminium rod with Young’s modulus ¥ =7.0x10'"Y N/m® undergoes elastic
strain of 0.04%. The energy per unit volume stored in the rod in SI unit 1s:

Options :

3666949263, 2800



3666949264, 2600

3666949265, 100

l.)
3666949266. 11200

Question Number : 34 Question Id : 3666942964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y =7.0x10'" Nim? 7 U Ui & A1Y U UHAFTH D1 TS 0.04% TAT™
i & srarfa STl 81 Ufd Uebias Simgad H Afed 3ol (J/ms H) &

Options:

3666949263, 2800

3666949264, 2600

3666949265, 100

1.7
3666949266. 11200

Question Number : 35 Question Id : 3666942965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: If E be the total energy of a satellite moving around the

earth, then its potential energy will be %

&

Statement I1: The kinetic energy of a satellite revolving in an orbit is
equal to the half the magnitude of total energy E.

In the light of the above statements, choose the most appropriate answer
from the options given below

Options :

3666949267 Both Statement I and Statement I are correct

3666949268, Both Statement I and Statement 11 are incorrect

36669492609. Statement [ is correct but Statement 11 is incorrect
Statement I is incorrect but Statement 11 is correct

3666949270.

Question Number : 35 Question Id : 3666942965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LA AE RO RIS

HY1: & IRT: gD U TS IUUE S $dl FHoll I1g £ g, O 391 eufast Sl
E grfh
2

HYA 11: U H&fl H THA gL TP JUUe i sl Sall o ol £ b GRHAT & 318 &
R gl g

SWIFd HYA & Fe # 3 18 M fadwedl # J walits Iuge I gL

Options :



U 1d RY 1l
3666949267. Rl e

3666949268. AT ! €

Y| U oY 1 TTedd
3666949269. g ¢

HYF | T & TR U 11 T8l &
3666949270.

Question Number : 36 Question Id : 3666942966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

At any instant the velocity of a particle of mass 500 g is (2¢1+3t% j) ms™. If the

force acting on the particle at ¢ =1s is (i + 5)N . Then the value of x will be:
Options :
3666949271, ©

3666949272,

3666949273.

[

3666949274.

Question Number : 36 Question Id : 3666942966 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

{3 8101 TR 500 g GEHM & UH B BT AT (245 + 362 ) ms ' &l TG t =1s WHU T
SRIMNUT T (( + )N ©1 79 x HTHA B

Options :
3666949271, ©

3666949272.

3666949273.

|

3666949274,

Question Number : 37 Question Id : 3666942967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two forces having magnitude A and -‘? are perpendicular to each other. The

ral

magnitude of their resultant is:

Options :
E
3666949275, 2
J5A

3666949276, 2

3666949277. 4



V547
3

3666949278. -

Question Number : 37 Question Id : 3666942967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
;&Hi%1ﬂ?mﬂi3?aﬁlﬁﬁﬁiﬁ?aiﬁﬂﬁﬁﬁiﬁlEFﬁFTﬁhWFﬁHﬂ1ﬂ?HHﬂ%:

Options :
E
3666949275, 2

3666949276, 2

3666949277. 4

3666949278.

Question Number : 38 Question Id : 3666942968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The weight of a body on the earth is 400 N. Then weight of the body when
taken to a depth half of the radius of the earth will be:

Options:



3666949279, Zere

3666949280, 10ON

3666949281, 200N

T
3666949282. WO B

Question Number : 38 Question Id : 3666942968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g IR U U8 BT R 400 N & | 516 IS &1 gedt &1 Bran & onel 0 31 71e3E R
o I STl ¢ d 39T HR 81

Options :

3666949279, Zero

3666949280, 10ON

3666949281, 200N

T
3666949282. NN

Question Number : 39 Question Id : 3666942969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Two projectiles A and B are thrown with initial velocities of 40 m/s and
60 m/s at angles 30" and 60° with the horizontal respectively. The ratio of
their ranges respectively i1s (g = 10 m/s?)

Options :

3666949283, 11

3666049284, 2 V3

3666949285.

3666949286.

Question Number : 39 Question Id : 3666942969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ol U8 A 9 B P &AW H 30° 9 60° & HIV W FHHI: 40 m/s T 60 m/s I & Y&t
e SITa & | G1ch ShH: URT1 &1 ST & (g = 10 m/s2):

Options :

3666949283, 11

| 84]

3666949284, ~° V3

3666949285.

3666949286.



Question Number : 40 Question Id : 3666942970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cylindrical wire of mass (0.4+£0.01)g has length (8+0.04)em and radius
(6£0.03) mm . The maximum error in its density will be:

Options :

1%

3666949287.

0/
3666949288, 00

3666949289, °

5%

3666949290.

Question Number : 40 Question Id : 3666942970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(04+0.0)g SOHM & UH doFIPR dR DI a3 (8+0.04)emTd Bl
{6+ 0.03) mm %r| sﬂﬁi*ﬂ?ﬁ A sffepan gﬁﬁﬁrﬁ

Options :
1%
3666949287.
0
3666949288, 00

36669492809.



4%

5%

3666949290.

Question Number : 41 Question Id : 3666942971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TV transmitting antenna is 98 m high and the receiving antenna is at the
ground level. If the radius of the earth is 6400 km, the surface area covered
by the transmitting antenna is approximately:

Options :

3666949291, 1868 km?
3666949292, 1949 km?
3666949293, 242 km?
3666949294, 1240 km?

Question Number : 41 Question Id : 3666942971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U EIdl U9 Ue1 98 m a1 ¢ Ud Urel U Y-k W g | afe geail &1 w41 6400 km
&, UNeh U1 GRI W T4 dd &1 &F%d a4 6

Options:



3666949291, 568 km?

3666949292, P49 km?

3666949293, -042 km”

LY. Q
3666949294, 1210 km

Question Number : 42 Question Id : 3666942972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For the logic circuit shown, the output waveform at Y is:

Options :
1 3 #® 8 &
3666949295, =8
— &g

3666949296.



3666949297.

0 |

_.
b 4
e

e A
3666949298.

Question Number : 42 Question Id : 3666942972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
yefid aifdes ulay & g, v R Frid a3 ¥9 &:

Options :

[}|

3666949295.



—_—
3666949296,
0 1 2 8 4
B N
3666949297.
0 g B 4
— 1
3666949298.

Question Number : 43 Question Id : 3666942973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For a nucleus X having mass number A and atomic number Z

A.  The surface energy per nucleon (bs) = —a,4*".

Z(Z-1)

B. The Coulomb contribution to the binding energy b. = -a, o
AL

C. The volume energy b, =asA

Decrease in the binding energy 1s proportional to surface area.

&=

While estimating the surface energy, it is assumed that each nucleon
interacts with 12 nucleons. (a;, a; and ay are constants)

Choose the most appropriate answer from the options given below:
Options :

A, B, C, Donly
3666949299.



3666949300, = Conly

3666949301, O D onlby

B, C, E only
3666949302.

Question Number : 43 Question Id : 3666942973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AGHHE @I Yl z YIHIY] shHih & T AIfHG Ax & few

A. Ui gfderdi< g8 Sl (be) = —a,A%°
B. TR Foll B FaAld U be = —ay 22—

C. SR 3ol b, =ayA

D. &M il § &4l Y &% & HHMUIR il g

Uy Sull FdTa- & o g8 |7FT ofdl ¢ 6 ude feadq 12 Jfedaar 9
Mﬁm%l[al,ﬂzaﬂg ﬁ%%‘]

A &0 T fabedl ¥ sifdad Iuge IR gHT:

Options :
3666949209, PACA B,CTD

3666949300. e

3666949301, PG CAD

3666049302, PO B, CAE



Question Number : 44 Question Id : 3666942974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Proton (P) and electron (e) will have same de-Broglie wavelength when the
ratio of their momentum is (assume, my = 1849 m.):

Options :

3666949303, - o1

3666949304, 13

3666949305, 191

3666949306.

Question Number : 44 Question Id : 3666942974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ST () TUT ST () DI S-Sl TRTTaed U GHH g ofd 371 ATl BT ST
& (mp = 1849 m. HFE) |:

Options :
3666949303, - o1

3666949304, 0



3666949305, 19:1

3666949306.

Question Number : 45 Question Id : 3666942975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a reflecting telescope, a secondary mirror is used to:
Options:

3666949307, remove spherical aberration

3666949308. move the eyepiece outside the telescopic tube

3666949309. make chromatic aberration zero

reduce the problem of mechanical support
3666949310.

Question Number : 45 Question Id : 3666942975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U IR granil #, o fecdia <dur &1 uant fass for g &:

Options :

3666949307. A T e A



23666949308, TP @1 G el A AR A A

36669493009. W s

3666949310. - SR AT

Question Number : 46 Question Id : 3666942976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dimension of should be equal to

Ho €
Options:

3666949311, UT

3666949312, -

3666949313, /T

3666949314, 11

Question Number : 46 Question Id : 3666942976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



L & enh:

Hp=p

Options :

3666949311, YT

3666949312, -

3666949313, /T

3666049314, T 1

Question Number : 47 Question Id : 3666942977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Certain galvanometers have a fixed core made of non magnetic metallic
material. The function of this metallic material is

Options :

3666949315, to oscillate the eoil in magnetic field for longer period of time

to produce large deflecting torque on the coil
3666949316.

3666949317, to make the magnetic field radial

to bring the coil to rest quickly
3666949318.



Question Number : 47 Question Id : 3666942977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g yRmEl § srgEay uifd® yard &1 s U6 8 $1s gl ¢l 39 uifd®

Options :

3666949315, | A & T PUST B P Sf1ad HTe F Qe HA A

3666949316. PUSHl W it fqei o syl 3d FA A

3666949317, TP &3 Pl 35 & H

3666949318, TrStl I Sl J R H A H

Question Number : 48 Question Id : 3666942978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A charge particle moving in magnetic field B, has the components of velocity
along B as well as perpendicular to B. The path of the charge particle will be

Options :

3666949319 straight along the direction of magnetic field B

3666949320, Creular path

3666949321, helical path with the axis along magnetic field B



helical path with the axis perpendicular to the direction of magnetic

field B
3666949322.

Question Number : 48 Question Id : 3666942978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B &7 B T A UF AR SV & I & Ued, B P SR 3R B & Taad
& | SMTAfId S 1 Uy BIT:

Options :

3666049319, Ll s L e

3666949320. !

| DT 87 B A 348 B gelibd

3666949321

3666949322, FREARALY i

Question Number : 49 Question Id : 3666942979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In this figure the resistance of the coil of galvanometer G is 2 Q). The emf of
the cell is 4 V. The ratio of potential difference across C; and Cs is:

i

Options :

| e

3666949323.

3666949324, |

W= | o

3666949325.

3666949326.

Question Number : 49 Question Id : 3666942979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 ol ® YR 6 3 HUSHl BT URIY 2 0 81 90 DI fAggd aed da4vel ¢, d
¢, faHaRl &1 U &:

)

Options :

| e

3666949323.

3666949324, |

W= | o

3666949325.

3666949326.

Question Number : 50 Question Id : 3666942980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Graphical variation of electric field due to a uniformly charged insulating
solid sphere of radius R, with distance r from the centre () is represented by:

Options :
4
1 : r_
3666949327. ES2
I3 4
|
|
|
|
|
>
3666949328, p=h
H F.
!
>
3666949329. r=R
Ii 4
|
|
|
|
*r
3666949330. -

Question Number : 50 Question Id : 3666942980 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UHHHH AR e 619 d & SRUI [AfHd R 1R dggd 83 &1 SfREY
uRgdq 9 ueR welRid §:

Options :

3666949327.

3666949328. !

3666949329. *

B o s i i g

-
Il

—_—

=+

3666949330.



Physics Section B

Section Id : 366694163
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694163
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 3666942981 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

An organ pipe 40 em long is open at both ends. The speed of sound in air is
360 ms!. The frequency of the second harmonic is Hz.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 51 Question Id : 3666942981 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 40 cm T 3T U139 ST R 0= TGarl g1 § 1 ag # 6 &1 91d 360 ms* B
fgdig =13 ot Gﬂfgﬁl Hz &1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666942982 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An air bubble of diameter 6 mm rises steadily through a solution of density
1750 kg/m? at the rate of 0.35 em/s. The co-efficient of viscosity of the solution
(neglect density of air) 1s Pas (given, g = 10 ms™).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666942982 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1750 kg/m?* B9 & U 91 H 6 mm T &1 U a1 T gaqal 0.35 cm/s B VTS
&R 4 331 ¢ 9id B Wl ol Pas © (1Y &1 -9 109 WS Td
m%: H = lﬂ mﬁ-_l"l}

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666942983 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The moment of inertia of a semicircular ring about an axis, passing through

the center and perpendicular to the plane of ring, is lI'»-IELE, where R is the
X

radius and M is the mass of the semicircular ring. The value of x will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666942983 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



%H@WW%WH&%W&H:WW%MHE%GﬁW$Hﬂ$

TEdd Ud 39 s 4 ToRd! ¢ | 981 M HLJAIBR el bl soqHH a1 R BT 81
x®IAA____ B

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666942984 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The momentum of a body 15 increased by 50%. The percentage increase in the
kinetic energy of the body is %.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666942984 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
us U &1 YT 50% d¢ ST ¢ | favs &t nfaw Sf # ufawra afe %@

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666942985 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

A nucleus with mass number 242 and binding energy per nucleon as 7.6 MeV
breaks into two fragment each with mass number 121. If each fragment
nucleus has binding energy per nucleon as 8.1 MeV, the total gain in binding
energy 1s MeV.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666942985 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

242 S| B Ud Wi feerdi<l a4 Sl 7.6 Mev &1 U AT1HS Ueh THH SdHH
@A 121 & 41 Ble-2 WUl # ¢ WIal g1 ufe Ul @us AlfNe &1 ufd e
2 FHoll 8.1 Mev 81, §%[ ol § & dig MeV &1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666942986 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two vertical parallel mirrors A and B are separated by 10 em. A point object
O 1s placed at a distance of 2 em from mirror A. The distance of the second
nearest image behind mirror A from the mirror A is cm.

A B

2 em
)

FTTTTrrrrrrTryerrrrrrnd

£&— 10 cm —>

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666942986 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



3 FER TR U AT BTG TR T 10 cm B g W RATI T AF 2 cm B
T R S fag 9% o U 81 300 A & Ui et Fidrean nidfera ot gdur a9 gl
cm%l

-
—
[

IIIIIIILIli!iIJIJI]II
Frrrrrrrrrerrrrrrrnrni

€— 10 cm —>

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666942987 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An oscillating LC circuit consists of a 75 mH inductor and a 1.2 uF capacitor.
If the maximum charge to the capacitor 15 2.7 4C. The maximum current in
the circuit will be mA.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 57 Question Id

: 3666942987 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e d §U LC URUY H 75 mH 1 U WP U4 U 1.2 uF &1 Uh HYIRF o1
¢ 9f¢ HuTRE R $a 31w 2.7 pc g1 IRuy F Sffddd 4R mA BT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id

: 3666942988 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The magnetic intensity at the center of a long current carrving solenoid is
found to be 1.6x10°Am™!. If the number of turns is 8 per cm, then the current

flowing through the solenmd is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id

A,

: 3666942988 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

U ol YRTdTe] 9Tt & s R Fra g & &l disddl 1.6x10° Am ™! UIE gl
g1 gfe ufa 9. B ot Twe 8 g1, a1 Rt # uaifed 4r ATI

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666942989 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A current of 2 A flows through a wire of cross-sectional area 25.0 mm® The
number of free electrons in a cubic meter are 2.0x10°°. The drift velocity of
the electrons is x107° ms-! (given, charge on electron = 1.6x1079().

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666942989 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



250 mm? & YR UREDE AFPBA $ UHdR H 24 I U YR Yaifed gt g1
TP O Hiex # qad JadeHl & GBI 2.0x10%° §| SAFH S A I
_ x107% ms B (fATT 8, TARH W 1AW = 1.6x107°C)|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666942990 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

An electric dipole of dipole moment is 6.0x10°Cm placed in a uniform

electric field of 1.5x10°NC™! in such a way that dipole moment is along
electric field. The work done in rotating dipole by 180" in this field will be
me].

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 3666942990 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6.0x1075C m fgyd il &1 U fagygd fgyd 1.5x10°NC™ & U UhadH fdgga
&7 H 39 YHR @1 ¢ b fgya smaof fagqd &7 & orfew 81 39 &7 7 fgyd &1 180°

&R gHH ® $d s m) BT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 61 Question Id : 3666942991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

366694164
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Mandatory
20

20
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Yes

0
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366694164
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null



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

210; +xI” +12H* — 6L, + 6H,0

What is the value of x7

Options :

]

3666949341.

3666949342, 10

3666949343, B

3666949344, 2

Question Number : 61 Question Id : 3666942991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
210; +x1” +12H" — 6L, + 6H,0
x PTAF T 8?

Options :

5]

3666949341.

3666949342, 10

3666949343, B

3666949344, 2



Question Number : 62 Question Id : 3666942992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The reaction
é H, (g) + AgCl(s) = H' (aq) + C1-(aq)+Ag(s)
oceurs in which of the given galvanic cell.
Options :

Ag | AgCl(s) | KCl(sol®) | AeNO. | Ag
3666949345, 81 A2CH#) | KCli2ol) | AgNO; | Ag

Pt|H, HCl=0l™) | AeNO. (sol™) | A
3666949346. | _{g} | {hU } | g _!_(h{} } | A

3666949347. Pt | H,(g) | HCl(sol") | AgCl(s) | Ag

Pt|H, (g)| KCl(sol") | AgCl(s) | Ag
3666949348. 2

Question Number : 62 Question Id : 3666942992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
SRR

L H,(2) + AgCl(s) = H'(aq) + C1 (a)+Ag(s)
32 m 5y feae Ia § grit
Options :

Ag| AgCl(s) | KCl(sol”) | AgNO. | Ag
3666949345, B ARCUR | KCaol) | AN, | Ag



Pt | H.(2) | HCl(sol*) | AgNO. (sol*) | A
3666949346. .(2) | HCl(sol") | AgNO,(so0l") | Ag

Pt|H,(g) | HCl(sol") | AgCl(s) | Ag
3666049347, [t/ H:(@ HCI(s0l") [ AgCl(s) | Ag

Pt|H,(g)| KCl(sol") | AgCl(s) | Ag
3666949348. =

Question Number : 63 Question Id : 3666942993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represent the Freundlich adsorption 1sotherms?

!

&
m
A

p—>

log X

B m

} constant

logp —
X
C n
} constant
c —>
x
D m
ph —>

Choose the correct answer from the options given helow:
Options:

3666949349, A\ Bonly

3666949350, O C- D only

3666949351, v B. Donly

3666949352, b © D only



Question Number : 63 Question Id : 3666942993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofafad # 4 =19 91 wiosite iy gaandt @1 ueRia & g2

X
i m
p—>
.
& log =
} constant
log p —>
X
C m
} constant
o—>
X
D m
ph —>
419 140 72 fasedi & 9 Uel fadey &1 94:
Options :
&dd A R B

3666949349.



3666049350, P34 B, C 3R D

3666949351, PAUA,B 3R D

3666949352, P A, 3R D

Question Number : 64 Question Id : 3666942994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The correct order of electronegativity for given elements is:

Options :

3666949353, C > P> At>Br

3666949354, Br>C>At>P

3666949355, £ = Br>C>At

3666949356, DF L > At>C

Question Number : 64 Question Id : 3666942994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
f& 2 awi @1 fagga BunESdl H1 Jol A o

Options:



3666949353, © = P> At>DBr

3666949354, Br>C>At>P

3666949355, © > Br>C>At

3666949356, OF > F > At>C

Question Number : 65 Question Id : 3666942995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following metals can be extracted through alkali leaching
technique?

Options :

3666949357, U

3666949358, Cu

3666949359, P

3666949360.

Question Number : 65 Question Id : 3666942995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Frofafea @ 9 &F 9 uig «_ig Faraa &Y 3 e $t o aad g

Options:

3666949357, ¢

3666949358, Cu

3666949359, P

3666949360.

Question Number : 66 Question Id : 3666942996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The water gas on reacting with cobalt as a catalyst forms
Options :
3666949361, Tlethanal

3666949362, Methanol

3666949363, Methanoic acid

3666949364, Lthanol



Question Number : 66 Question Id : 3666942996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
od 1 Pldlee IaRS 9 Siffdha Hyd sl 6:

Options :

3666949361. YT

3666949362. EREL

AUAIgH 3T

3666949363.

3666949364. EREIC

Question Number : 67 Question Id : 3666942997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of adding gypsum to cement?
Options :
To give a hard mass

3666949365.

3666949366. To facilitate the hydration of cement

To slow down the process of setting
3666949367.



3666949368. To speed up the process of setting

Question Number : 67 Question Id : 3666942997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U= 7 foregH &1 ST &1 1 352 82

Options :

3666949365, PO %o &1 P e

3666949366. ® P YT S R

3666949367, 1 P U P HIHI B & [T

3666949368, T P UPH Pl I B & fe1g

Question Number : 68 Question Id : 3666942998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Lithium and Magnesium do not form superoxide
Statement II: The ionic radius of Li* 15 larger than 1onie radius of Mg2*

In the light of the above statements, choose the meost appropriate answer
from the options given below:

Options :

3666949369. Both Statement [ and Statement 11 are correct



3666949370. Both Statement I and Statement Il are incorrect

3666949371, Statement | is correct but Statement 11 is incorrect

Statement [ is incorrect but Statement I1 is correct
3666949372.

Question Number : 68 Question Id : 3666942998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

EIEEAGIC AT (e

sy ffaw SR AARmw gReieEs E e |

FUF 11 L DI S B mer | sftE gt 8

IWRIT HYH F T 9 33 1 fapedi § 9 a8 SRA SW A1 1 :

Options :

3666949369, P 1 SR 11 T T E

3666949370. Y | Gﬂ? ] E-:F‘h' H %

3666949371, PU | T § WG FUA 1l A T

3666949372, PUT | W 8 W HYT 1 4T ©

Question Number : 69 Question Id : 3666942999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which halogen is known to cause the reaction given below:

2Cu™ +4X° — Cu X, (s) + X,
Options :

3666949373, All halogens

3666949374, Only lodine

3666949375, Only Bromine

3666949376. Only Chlorine

Question Number : 69 Question Id : 3666942999 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@I 1 gared -ra di 7 sifiiferan &1

20u® +4X" - Cu,X,(s) + X,
Options:

3666049373, WHI oaller

3666949374. SERRRIS]

3666949375, PAd STHIA

3666949376.



Question Number : 70 Question Id : 3666943000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following complex 1s octahedral, diamagnetic and the most
stable?

Options :

K ,[Co(CN),]
3666949377. -

[Co(H,0),]CL,

4

3666949378

[Ni(NH,), ]Cl,
3666949379.

Na,[CoCl,]
3666949380.

Question Number : 70 Question Id : 3666943000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Fraffad ¥ ¥ @1 91 d9d b g Uldgasiyd 3R gailts ®iTs g?

Options :
K, [Co(CN),]
3666949377. :

[Co(H,0),]CL,
3666949378. S



[Ni(NH,),;]Cl,
3666949379.

Na,[CoCl,]
3666949380.

Question Number : 71 Question Id : 3666943001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List I1:

List I (Species) List Il (Maximum allowed concentration
in ppm in drinking water)

A F- L, < 50 ppm

B. 0 I1. <5 ppm

& NO, IM. <2ppm

D. Zn IV. <500 ppm

Choose the ecorreet answer from the options given below:
Options:

3666949381, AL Bl C-IIL D-IV

3666949382, -1V, B-LIL C-IL D

3666949383, 1 Bl CL DIV

3666949384, AL B-IL C-I D-IV

Question Number : 71 Question Id : 3666943001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

G &1 11 § YAl HL:

SSIY Sl

(atrfera) (U1 9T 5a # stfdban Fuiid

ATl ppm )

A F L < 50 ppm

B. SO I1. <5 ppm

C. NO, III. <2ppm

D. Zn IV. <500 ppm
A fod 1 faspedl @ Ul I &1 I
Options :
3666949381 A-l, B-II, C-III, D-IV

3666949382, ATV, B-LL CIL D-1

3666949383, A1l Bl CIL D-IV

3666949384, AL B-L C-I - DIV

Question Number : 72 Question Id : 3666943002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The correct order of spin only magnetic moments for the following complex
1018 18

Options :

3666949385 [Fe(CN),]" <[CoF,]" <[MnBr,]" <[Mn(CN),]"



-

[Fe(CN),]” < [Mn(CN),]” < [CoF,]” <[MnBr, ]

3666949386.
3666049387, LCOF] <[MnBr,J < [Fe(CN);]" < [Mn(CN), ]~
seec0403gg IMABE] < [CoR ] <[Fe(CN),]™ < [Mn(CN),]"

Question Number : 72 Question Id : 3666943002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Frafifad dgpe sl & frg Sad wemo grasiy vl %1 He B @:

Options :

3666949385 [Fe(CN),]” <[CoF,]" <[MnBr,]” <[Mn(CN),]"

-

sceeoanage, LFOCNe] < [Ma(CN)]" < [CoR,]” <[MnBr,]

3666949387 [E-DFI;IB_ < []\’In]}r, ]2_ < [Fe{ﬂ-m[;]:{_ < [Mn(CN)“:[S'

seec0a03gg IMABE] < [CoR ] <[Fe(CN),]™ < [Mn(CN),]"

Question Number : 73 Question Id : 3666943003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the halogen which 1s most reactive towards Syl reaction in the given
compounds (A, B, C & D)

Hr[“}

A,
Br

(b}

C.
Br,, Br,
Me
. >N
Hr{u]

Options :

B-1,: C-Br,; D-Br,

hy *

3666949389, (b *

A-Br, : B-1

; w: C—Br,; D-Br
3666949390. ; "

| (FY]

C=Br. : D-PBr

() * fia)

A-Br,: B-L,:
3666949391. &

A—Br. : B-—1

: C=Br,_: D-B
3666949392. . ih) T T,

Question Number : 73 Question Id : 3666943003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i3 718 DT (a, B, € & D) F RN Sl B T HibT Sn1 SH¥HTHa F o waffts
ERIRIGES

Br

(a)

.
Br,, Br,
Me
Br,
D. e
Options :

3666949389, (b > (w *

A—Br, : B-1,;: C-Br,,: D-Br

B Linl (ah * (]

3666949390.

A-Br,; B-1,; C-Br,; D-Br,
3666949391. : : '

A-Br, : B-1 C-Br,; D-Br

(b : (h)

3666949392.

Question Number : 74 Question Id : 3666943004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The major product formed in the following reaction is:

, i) LiBH
COyxH ® A major produet
[::::[::::jff EtOH
CO,Et >
" (i) H;0*

Options :

OH
3666949393.

oH
O, Et
3666949394,
[:::I::::::C(hll

3666949395,
CO,H

3666949396.

OH

Question Number : 74 Question Id : 3666943004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Frofafaa siffear # 91 vy Iarg 82
, 1) LiBH
COyH W ;} major product
@C/ EtOH
COt &y 0"
Options:

3666949393.



JH

(

OH
0, Et
3666949394.
[::I::::::CUEH

3666949395.
CO,H

@/\:[1/”2”

3666949396.

OH

Question Number : 75 Question Id : 3666943005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jiven below are two statements: One is labelled as Assertion A and the other
is labelled as Reason R.

Assertion A: Butan —1- ol has higher boiling point than ethoxyethane.

Reason R:  Extensive hydrogen bonding leads to stronger association of
maolecules.

In the light of the above statements, choose the correet answer from the
options given below:

Options :

3666949397, Both A and R are true and R is the correct explanation of A

3666949398, Both A and R are true but R 1s not the correct explanation of A



3666949399, A is true but R is false

3666949400, * 18 false but Ris true

Question Number : 75 Question Id : 3666943005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 3 FuA A T 8 UF B 3UHYH A 3R TR F HRUIR =R [ mn g
SHHYA A . -1 3 B HYTD TUIFRITUAA | S g & |

HRUIR:  AHAMUS gSoH AL & SR U HT IS Tofgd gl ol g
SWRIeR Syl & YR WR Ard {38 72 fadheul # 1 9el fadbey &1 g4 ;

Options:

3666949397, A SRR G WET § SRR, A P1 TE BT T

3666949398, A IR R &I WEl § TR R, A &1 Wl oA 7eT 8|

3666949399, A Tel & TR R a0 &

3666949400, A T § TR R el €|

Question Number : 76 Question Id : 3666943006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II:

N,Cl
@/ is reacted with reagents in List I to form products in List I1

List I (Reagent) List II (Product)

NH, F
SENYs

B. HBF,, A
I, @/
C. Cu, HC1 = =
= \ / N:NUNIIE
IIL.

D, CuCN / KCN Cl

e

Choose the eorrect answer from the options given below:
Options :
3666949401, A1V, B-IIL C-IL - D-1

3666949402, AL B-IL. - C-IV, D-lI

3666949403, 1 B-IL C-IV, DI

3666949404, AL B-L  C-II D-IV

Question Number : 76 Question Id : 3666943006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T B 1| & AR B

N,

gy | A sifvaie | aifiifrar a3 9 11 &1 3E T 8
et -1 sfisH® Tt i1 IS

NH, F
A, : E ©/

B. HBF,,A @/{:N
IL.
C. Cu, HCI
“ o
I11.

D. CuCN/KCN Cl
IV. :

A fod T fas el 7 9 "l IR &1 .

Options :

3666949401, A1V. BAIL C-IL DA

3666949402, Al B-I  C-IV, D-II

3666949403, L B-UL CIV, D-II

3666949404, AL B-I. CIL D-IV

Question Number : 77 Question Id : 3666943007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sulphur (8) containing amino acids from the following are:

(a) 1soleucine (b) eysteine (c) lysine (d) methionine (e) glutamic acid

Options :



3666949405, P ¢

3666949406, 4

3666949407 D¢ ©

3666949408.

Question Number : 77 Question Id : 3666943007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafad ° 9 vemrvgad THA 3 §:

(a) AZHGHA (b) RRE (¢) A (d) DUZSAA (e) T 3
Options :

a,b,c

3666949405.

3666949406, 4

3666949407, D ¢ ©

3666949408.

Question Number : 78 Question Id : 3666943008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List II:

List I List I
Al Saccharin I High potency sweetener
B. Aspartame I1. First artificial sweetening agent
C. Alitame III. Stable at cooking temperature
D. Sucralose IV. Unstable at cooking temperature

Choose the eorrect answer from the options given below:
Options :

3666949409 AL B-IV, C-I.  D-II

3666949410, 1L B-IV, C-IIL, D-I

3666949411, A-Il, B-II, C-IV, D-I

3666949412, 1Vs B-IIL G-I D-1I

Question Number : 78 Question Id : 3666943008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 1 gAferd &

Tt - gt -

A UGB I S vad 9LRE

B. T{IcH I Ugdl HEAH HERS

c. Ufcrew n.  WHEIYHH & aIHE ) -
D. geblard Iv. WFIUSH & agHA R SRS
A1 30 T 9l 9 Uel I & -

Options :



3666949409, AL BV, G-I D-lII

3666949410, AL BV, CIL, D-

3666949411, A-IL B-II C-IV, D-1

3666949412, ATV: BIIL C-I - D-II

Question Number : 79 Question Id : 3666943009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II:

List I (Reagents used) List II (Compound with
Funetional group detected)
A, Alkaline solution of copper
sulphate and sodium citrate HO
I
B. Neutral FeCl; solution NH,

£ Alkaline chloroform solution @/\[".I—IU
I11.
D. Potassium iodide  and OH
sodium hypochlorite /\©/
V.

Choose the eorreet answer from the options given below:

Options :
3666949413, Al B-IV, C-II, D-I

3666949414, A1V. BL G-I D-II



3666949415, AL B-IV, C-I.  D-II

3666949416, A1 B-1V, C-1I, D-I

Question Number : 79 Question Id : 3666943009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It 1 1 1 B Aferd &

T -

(I SPHP) @i iR ur T R T

A.  BIR Hebe R GIfeTH Fi5ce

&1 &R faeg= HO

I

B. FeCly &I IqrM NH,
II. /]\

S W @/\mm
I11.

D. UleTImH JeEs 3R Aifgan OH
IV. /U

919 30 7 fapedl § 9 Wgl S| &I IH:

Options :

3666949413, AL B-IV, C-II, D-I

3666949414, 1V: Bl ClL DI

3666949415, AL B-IV, C-I.  D-II



3666949416, AL B-IV, C-II,  D-I

Question Number : 80 Question Id : 3666943010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In chromyl chloride, the number of d-electrons present on chromium is same
as in (Given at no. of Ti : 22, V: 23, Cr : 24, Mn : 25, Fe : 26)

Options :

3666949417, Mn (VLD

3666949418, 1 (D

3666949419, Y IV)

3666949420, 1 (D

Question Number : 80 Question Id : 3666943010 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HIURT FaARSe W HItgH W) IufRYd J-3aaeHl i Ted faad a0 gl g:
(F&zn a1 @ GRHIY] HHid Ti: 22, V: 23, Cr: 24, Mn ; 25, Fe : 26)

Options :

3666949417, Mn (VID)



Fe (I1I)

3666949418.
3666949419, ¥ (V)
3666949420. Ll

Chemistry Section B
Section Id : 366694165
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694165
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 81 Question Id : 3666943011 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



P =3 atm
1I\'r = 1 TJ
Ne(m)

P =4atm
V=3L
CO.(g)

P =2atm
V=2L
CH, g

Three bulbs are filled with CH4, COz and Ne as shown in the picture. The
bulbs are connected through pipes of zero volume. When the stopcocks are
opened and the temperature 1s kept constant throughout, the pressure of the
system is found to be atm. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666943011 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P =3atm
V=4L
Ne(g)

P =2atm
V=2L
CH,(g)

o fa o # feaman 711 @ o §6d CHa, CO,, 3R Ne T W T B | 3t ded YA
I $1 U3y A 9 gU 81 Ol wieha1 & SR fRR A/ W §d 3 $I Wil Sidl 8
dd UhH &1 g1d atm g | (Fidean quife)

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943012 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of following statement/s which is/are incorrect is

(A) Line emission spectra are used to study the electronic structure

(B) The emission spectra of atoms in the gas phase show a continuous
spread of wavelength from red to violet

(C) An absorption spectrum is like the photographic negative of an
emission spectrum

(D) The element helium was discovered in the sun by spectroscopic method
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666943012 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrofafad ¥ sryd; Y=l &1 9B 2l

(A) YT IeHuH Wae] BT IUTR Fadcl-1d G- & S(=a- | gidl

B) Y GV T WHNS 1 Ioi- WaeH ard ¥ ST av-2edf # uaffg
G

(C)  SENYU WaeH IHoid WaeH & BeUThY Fifed 1 Re e 8|

(D) O Biferad & g # Wae R ITud fafe & Gier a7 41|

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943013 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of following factors which affect the percent covalent character of
the ionic bond is

(A) Polarising power of cation
(B) Extent of distortion of anion
(C)  Polarisabiality of the anion

(D)  Polarising power of anion

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666943013 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Frofafed srRe! &1 g8 & TP smufe ey o Yeisl davr &
Uf=rd &1 yHIdd el 6

(A) YA DT YdoT &

(B) HBUMGA & faEd &1 |

(C) B BT Yddl

(D) HBUNG S YduT &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943014 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

When a 60 W electric heater is immersed in a gas for 100s in a constant
volume container with adiabatic walls, the temperature of the gas rises by
5°C. The heat capacity of the given gas is J K-1 (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666943014 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



o4 U 60 w aTdl fdgqd 8lex &1 100 s & ol 19 & fRR omaad ok va™ dlaR
aret S+ H a1 ST @ ot 1% &1 a1 5° 96 iTdl g1 & TS 719 &t Isrenfa
k1 g1 (Fdead guiia)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943015 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The vapour pressure vs. temperature curve for a solution solvent system 1s
shown below.

L
Vit ave s sonpitdnn sl s A bkl ns
E T
=
[ )
r_[:-
&
=¥ '
= i
:= 0
S '
= '
’_l:': '
= i
80 81 82 83 d
Temperature ——
(")
The boiling point of the solvent is 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666943015 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T4t faeaa faomae 33 & ford ar g1e SiR du & Iy v 9% A fear man &

F

Vapour Pressure

W

80 81 52 8
Temperature ——

(°C)
[ERIPEIEAEAIGIED °C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943016 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The titration curve of weak acid vs. strong base with phenolphthalein as
indictor) is shown below. The K =4 %107

phenolphthalein
Given: log2=0.3

F

10 F

prH

6

D 10 15 20 25

VN:!“”

The number of following statement/s which is/are correct about
phenolphthalein is

A, [t can be used as an indicator for the titration of weak acid with weak
base.

B. It begins to change colour at pH = 8.4
C. It is a weak organic hase
1 A It 15 colourless in acidic medium
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666943016 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



god 37 3R Uad &R &1 STHIUA Ieh BT Yad 9 +d e mn g
=4x107,

phenolphthalein

3T T 8 log2=0.3

B & ar HRfiied 9l Sy sy sl d= g

(A) U Tad 347 3R g d &R & STHITH H Y &1 ave W fHar o &l g
(B) g pH = 8.4 TR {1 UREcH o Xl 8

(C) TE god HIED 4R g

(D) Ug 3y HIeH H TTe eidl o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943017 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The number of given statement/s which 1s/are correct is

(A) The stronger the temperature dependence of the rate constant, the
higher is the activation energy.

(B) If a reaction has zero activation energy, its rate is independent of
temperature.

(C) The stronger the temperature dependence of the rate constant, the
smaller is the activation energy.

(D) If there is no correlation between the temperature and the rate
constant then it means that the reaction has negative activation
energy.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666943017 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

& T UG HYA ) FYA] B G=A 2l

(A) 3 RIS P A ard i g9 4 dfhaur e el gl

B) afe Bt sififerar ot Tferaur Serl Y= € o 391 971 a9 § wad gial ¢

() o fRRI® 3 e a/™ Fyva 89 ¥ dfspau ol Fuar gl g

(D) fE AT 3R 371 RIS & Al FIs Wa~ 7 g1 o ifHfshan &1 ifehaor Hai
THRIAD el ¢ |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 88 Question Id : 3666943018 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

XeF, reacts with ShF; to form
[XeFm]" [SbE, | .
m+n+y+z=
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666943018 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

XeF, SbF; ¥ Ifufehar axd @
[XeFm]" [SbF, | .
mtnt+ytz=
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id

: 3666943019 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Molar mass of the hydrocarbon (X) which on ozonolysis consumes one mole of
Oz per mole of (X) and gives one mole each of ethanal and propanone is
g mol-! (Molar massof C: 12 g mol-!, H: 1 g mol-!)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666943019 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIS SIS (X) T HITR SedHH= & ol b st & ol (x) & ufd Aia A
0; B1 Uab HId ©d Hdl & 3R T HId Qe IR U Hied W= Sl 81
HITR SHM C : 12 g mol-!, H: 1 g mol-)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666943020 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0.5 g of an organic compound (X) with 60% carbon will produce x10' g
of CO2 on complete combustion.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666943020 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fareil ST diffTed (x) BT RRH 60% PEAg T GgA R x107'g
HIETSTS SHRIZS M|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



